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QUESTION 1

Universal Containers (UC) u about to develop a new call center solution utilizing Salesforce products including Service
Cloud, LiveMessage, Experience Cloud, and MuleSoft. UC would prefer no real customer data to be stored within
Salesforce but to be made view only. These views should only be utilized by a select few individuals that may be
assigned the ability to view this data temporarily and have it removed. 

Which two features should a Solution Architect suggest to maintain these constraints? 

A. Apex Callouts, User Permissions Sets 

B. Third-party ETL, Profiles 

C. Salesforce Connect, User Profiles 

D. Salesforce Connect, User Permission Sets 

Correct Answer: A 

 

QUESTION 2

AC Computers is hitting governor limits when trying to create orders and activate orders in Salesforce. Upon further
investigation, it\\'s discovered that AC Computers is trying to process hundreds of order products on a single order. The
Order object also has various automation processes to update fields and integrate with a third-party order management
system. 

What is one solution a Solution Architect should evaluate first to resolve this issue? 

A. Create a custom object to hold orders in queue for processing. 

B. Review to determine if moving automation to asynchronous Apex is required. 

C. Enable Advanced Order Management to process large orders. 

D. Install a third-party solution to process large orders. 

Correct Answer: D 

 

QUESTION 3

A Solution Architect is delivering a multi-cloud implementation to a client. A diagram is required to communicate the
vision and strategy of the solution to the business executives and stakeholders at a high level without going into too
much detailed technical information. 

Which type of architecture diagram should the Solution Architect use? 

A. Master Data Management (MDM) Diagram 

B. Reference Architecture Diagram 

C. Lightning Platform Architecture Diagram 
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D. Solution Architecture Diagram 

Correct Answer: B 

 

QUESTION 4

Universal Containers (UC) wants to ensure its field technicians are interacting with customers in a professional manner.
The sales department already uses a third-party survey tool. Which action should a Solution Architect recommend for
UC to enab4e service managers to track customer satisfaction based on the technician and the job? 

A. Use the existing survey tool by integrating the responses to the Service Appointment and Service Resource record. 

B. Build a Salesforce Survey to send out after each service appointment and integrate that data with the third-party
survey tool. 

C. Select an AppExchange app that sends a survey to each customer after a work order is completed. 

D. Use the existing survey tool by integrating the responses to Case number and User record. 

Correct Answer: A 

 

QUESTION 5

Universal Containers (UC) has a multi-cloud environment that includes Sales Cloud, Service Cloud, and CPQ. The
environment supports multiple languages via the translation workbench. As part of a roadmap, UC is implementing B2B
Commerce. As part of this project, there is a requirement to translate data stored within the Name and Description fields
on the Product and Product Category objects. 

What should a Solution Architect recommend to achieve this? 

A. Done data records and translate. 

B. Enable Translation Workbench. 

C. Add custom field with translations 

D. Enable Data translation for 626 Commerce. 

Correct Answer: D 
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